tiF2 2EI= XMEE OHH

(F) ol FRI0IM HSots HEXAZYJLICE of2iel 2HIX XMZHA 1X|E
HEEA] QUX|SIA|O] AFESHY 4 AS SREZ|H, XMARHY HHIQZ 2

off Z|5HE A= 20| QA2 HHEfLICE.

HEHol| CHEE XX THAHA2 ()0l 72 of
MISEALE FA, HE, B, 2Kt X &

A FIHEH S <XHEZHEH>H| 25t

2 x
i B
| |

X|

B2 2-2E2flof|Ae | Ean

* K ZHA0f CHo Z2l5H L8| ALAIH ZH0[X|of| M ‘nAHME) — 1112’2
ZOI510 =A|7] BEEHLILY.






esson

05 What Matters Most

W R 008

01 fit 02®
03 (1) effective (2) claim (3) worship (4) ordinary (5) recognize

(6) forever
04 ®

ol E0{717101) SICh & oS 2lct
A0|1, D@B@®= ‘SAt: BAP HAHO|C,
YHSICH: YH @ HESIC: 2"t ® H|'H7}: H]EatCt
@LCiYst: o2 71X ® HE2 HLUCH: gt
03 (1) effective(E2HEQ1): YSH0|11 Q=& HAO R REF5H=
(2) claim((Atai0]2ty) FHGIC: 2ATPE USEA| LFUSOE 20| At
0|2t 25}ct
(3) worship(CiltH): &l0fl TSt ZZ3t o e 20| 7] ok SRl AZ0M
7|5k eelishe &S
(4) ordinary(2529|): CtE27{Lt SH5HXA| 2211 B 0|HLt Lot
(5) recognize(QIHBICH): YLHEQI AFZE| 25l IR EHLE ST 0{A
X|ct
(6) forever(Z3): Dj2Hel ZE A7t &S
04 Lt= O] 2H|0i| CHaH LH MZts Helgt AlZHo] & T stct (Ha|stoh)
®I0|552 %ﬂlt”“—’-*—QE LF%EI(H AULE. (&=A)

@ 0] oY== =20

01 fit: AZEh (M= A
02 @ YHEAL: GAY

rt—-l

i

[
r|o||
fell
0
rir

AN
@ L= O2iRIZ 8 B A YRS F250t ot
® Ul MA2 1S KIXIEaA H2IZ Badt Ic,

| c PR

01 It is very important to be honest with friends. 02 @

=)
3 E| OFED

Al_\
L
/\

p.009~010

01 Mt is important + to2 ™At = O{H Ag Z5HA FHSHHL =
g mj A3tz HEH0|C,
CHEHO| O Zi0f £0|1E 77|10 #A0| /A=K 21

=3

HEOR B0} B,

. aapq 7, EHE p.011

01F 02 F 03 F

SR 22

$0
|0

02 oz #aS LIEH

r{r 0x

o
w
s
jmy
)
ro
Pal
rio
ol
>
Hu
re
=
N
In
>
HI
min
=
]
no
=

01®@ 02®

@ XZ9 He| Z&0] 2=dt= 20| LI 7H HESH.
@ L9 Hol JHQI FHEL 4 tEoi

® 149 250 HEsh= A0 S5

®IHEN U7 222 WO

ot 3H5t=
02 Of5H40] XH|01|71I f £2 XS 3= ol 2OE QESHR HEHY0|
o LA 2917 K30 & B2
&4 Alal 22t A5 (A)0fEH HO| 0| tist ol E =
HEAIL HY HEH Z2IMS FHF
2t SHH off # 0k of
03 Titis |mportant + toR ™AL, B3I Thowever + FEAHEAL + 0] + SAt,
0|g3tct.

rr
[olr
O
°
_>,'_
re —.—
|>
o
o

p.013-014

01 playing basketball 02 had come

o
-

ZFHEL O} ANZL ZLEE FO0{E MGt playing basketball2 HHY M
F St

Annae T8 SICHFHO| 22X
02 FHO| "ZSALS| THE + have + LHEAL, 7} MO1 JPHH 1pr{etz 280|2
2 "had + tHEAL Q! had come2 2 HHY MO} STt
Dok L7 EOll O U Q2 Lis FE &5 AIME 4 UQAS .

o

o

[=
. DM By T 0.015
01 (1) Seeing (2) Not knowing (3) Having finished (4) Tired
(5) Having

02 (1) Graduating from high school (2) Not being confident
(3) (Having been) Treated very well at the hotel
03 (1) Because[As / Since] it was rainy
(2) ThoughlAlthough / Even though / Even if] | didn’t know how to
treat this situation
(3) If you order the combo meal
04 (1) Having lost his wallet, my brother found it in the drawer.
(2) There being many things to do, | couldn’t leave work until 10.

01 (1) M= 0{2t S5 2A0|22 SMEAL Seeing0| YL
= O EZX7] AER.

(2) BAT22 2HE 2A A0l notS M0k SFEE Not knowing0] L5ICE,
U= OE HHE SEkA AR AU

(3) HIE B 20| HAO0|2Z 2Z AR Having finished 7t STt
= SHE UL BAIS RIS

(4) AmyZt XX Ch= 20| 2 being0| H2e HEHO|Z 2 WAHRA} Tired7t &
DI—EI.

= 20 XXMM Amy= A L% FHA2[0] SUCE

(5) d=f 30171 21H0] thsh SAtE 552 WEO0I22 Having0] 2L,

Z1L0f] Tioh =12 LEM 2= AHAI0| SOt TS T2 ASUEX] THERUAT

02 (1) HEAIE MI5HD 0| F0{9t 20D FOIT M3t 5 BAHO| SAf
2 HEAL HEIR 2L
Lis DSSIES S5t 5 Yot NS AUt
(2) A2 2H2 A U0l not2 ALt

S8
RHA10] §AU7| HHE0] Andy= FY HHOIM CHES HAIHRCE
(3) BAFES AM7t F=HO| AMECH M 2R BAPES| SAE Thaving + 1t
HEALZ M1 Thaving been + SHEALAHRAL 2 AXfSHE 2AHE
E0|A having been2 M2kgt 4= QUL
Q2= O SHOIAM HES & 27| 20 PSS I8 MSTh



03 A2 AIZE 019, ¥, £71, SAISA 52 UEHIDR 2oy M5t
ZALS 0|B3H HAPEE HHF 0}
(1) BI7H 97| TR0 2l T2 gt 0 2718 3H= 22 H7I3HT.
(2) HIZ O] A0 ThE IS SUKID L= 23 0fF AT 51712 2|5

X sk,

(3) MIE D58 23101 Ll o X&sp o2 4 Ut

04 (1) ZAFRE AH7L ZEHO| AHECH YMDZ Thaving + A EAE AL},
(2) BAITL2O| Z0{7} 30| Z0{9} (1202 MaRsIX| o=C},

o =
DI Y T

01 (1) had been (2) were (3) were (4) had closed

02 (1) offered — had offered

03 (1) were not, could go (2) had studied, could have gotten
(3) wish, had gotten (4) as if, had lived

04 (1) If | were healthier than now, | could do anything.

113

p.016

(2) am — were

(2) Emma ate lunch as if she had starved for a couple of days.

01 (1) 7PF8E UAARE BXO|2E Thad + UHEAL7H LSICH
TLAFO| ZACHH O B sMiS0] IR0 Ha 4= JUS Hib|.
(2) Tas if + 7F9 1A, 2FO0IEE SALS| BAHH0| YSITH,
J= A== O] 227t Einstein P2 G218t AME HSSICH
(3) 7|-X‘II:H ﬂl»j-[ EX}OlEE EAI—Q_l ﬂl-j-lédo] OH:H’ |-
37|7F THRSITHH HI7F L2 27| =2 DMSHK| 942 HiT).
(4) " wish + 7FSE DpA&E | 20|22 Thad + HEAL 7 LS
O AUS0| O O =7 FALH E/US Hibl.
02 (1) 7MY mtAeta EX0|22 offeredE had offered2 11X A{OF BiCt,
JE0] X0 LHA 1 XF2IE MIQIRECHH L7t otERS Jid).
(2) 714 tAH EH0|E 2 amS were2 11X AOF ST},
W7t RX|Z STl HH0|2HH 5111 HS Mot gt~ AS H
03 (1) X AFA Dt BITHE| = S 7HE5LL QB2 TR AR L0,
P S0l & =~ gt — 11147} JCHX| 0f2|X|
=

ol

e o 27| hEo 2X
SICHH 2X SEO 2 4~ AS Hdl.
(2) TpA ArEL} EIHElE LS 7HESHL ACEZ 1Y AR R 20,
2| 2 SEE S| SH5| SHX| §O0tM S| AN E2 HrE
K| R3UL. — 22| Y0| SEE SE0| S| HHHEH SO A—HNM E2

(3) LA 9] Lofl thet RZOILt OtHE
LA2AR 2 20

L= 28 Hd £HIE % 1M |R40I0. — 25 HE

(=] =1

2 LIEIWL QOB 2 7| wish + 7FYH

|l

i
32

2 &

A
0||>|

£ Hig|.

(4) UARLCH O O|MQ] AtM L BITHE= LSS LIEHL JCBZ Tas if + 7t
Y AR, 2 20t
At Victorias Y20 1
UM 13 SO MO 2 AWM

04 (1) XN AFA D} BITHE| = Ys

(2) UARLH O O|™Q| AbA Tt BHHE= LIS LIEHHLL

Y WtE 2 20

=
n oy ojer K= 0.021

o
ol
e
[l
Ral
-0
39
_\7_

— Victoria OFX| XH210]

ol

o 3
=2
i)
%
ml:l
33
il

;O
o
o
HU
-
o -
»n
=
+
N

01 ‘Al 7HX| H2'S Leo Tolstoyoll et 22, 7= Al 7K| H20| et &2 @0
2 2C,

02 “MPZOIA 71 Bh2 QICIO S Burtoll e ®st2, = X2
=870t

S MA 217

p.022~023
01 wholthat] 02 that 03 (e)nsure 04 (r)eward
05 wholthat] 06 (R)egarding[(R)especting]
07 so that[in order that] 08 Others 09 situation
10 (should) consult 11 were 12 while
13 In response to[In compliance with] 14 ~Q0fl BI5HH
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19 disguised himself 20 to stay
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23 Who(m) 24 (Finally 25to respond 26 handing
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29 so that[in order that] 30 who it is 31 bandaged
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43 been answered

38 would have[would’ve] died
40 have made 41 torestore 42 to answer
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01® 02® 03 in response to[compliance with] 04 ®
05 pride 06 ® 07 @ 08 ® 09 ®,® 10©
110 12@ 130@

14 it is important to congratulate yourself when you fulfill a goal,
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17 What would you have done if you had been in France?
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21 If | had known, | would have posted

22 (Being) Satisfied with the results 23®,® 24 ®

25 (1) Expecting not — Not expecting (2) Trying — Having tried
(3) prepared — had prepared
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20 Everything else being all prepared

26 (1) Not being very hungry, we had instant cup noodles
(2) blew out the candles, as if it were his birthday
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There was once a king who wanted to know three things: the right time
to do everything, the most necessary people to pay attention to, and

the most important thing to do.

02 He thought that knowing these things would ensure his success.

03 He announced that he would reward anyone who could teach him these
things.

04 Many people traveled to his palace, but they all provided different
answers to his questions.

05 Regarding the first question, some said that the king should make a
detailed schedule so that he could always know the perfect time to do
everything.

06 Others claimed that he should take every situation into account and
wait for the precise moment to act.

07 Still others suggested that he should consult wise men.

08 Equally various were the answers to the second question.

09 Some said that the members of the king’s council were the most
important people, while others mentioned priests, doctors, or warriors.

10 In response to the third question, some replied that science was the
most important thing, whereas others insisted that it was war or
religious worship.

11 The king was not pleased with any of the answers.

12 Still wishing to find the best answers to his questions, the king decided
to visit an old hermit who was famous for his wisdom.

13 The hermit lived in a forest and met only ordinary folk, so the king
disguised himself as a simple peasant.

14 He ordered his bodyguards to stay behind while he went on alone to
seek out the hermit.

15 Reaching the hermit’s hut, the king found the old man digging in his
garden.

16 The hermit greeted the king and continued digging.

17 The king said, “I have come here to ask you three questions.

18 How can | learn the right time to do everything?

19 Whom do | most need to pay attention to?

20 Finally, what is the most important thing to do?”

21 The hermit listened carefully but declined to respond.

22 “You must be tired,” the king said.

23 “Let me help you with that.”

24 The hermit thanked him, handing the king his spade.

25 The king worked for a long time, while the hermit watched him silently.

26 as the sun was setting, the king stopped and said, “I came to you for
answers to my question.

27 If you can give me none, please let me know so that | can return home.”

28 “Someone is running toward us,” the hermit said.

29 “Let’s see who it is.”

30 The king turned and saw a man running out of the woods.

31 When the man reached the king, he fell down.

32 The king could see blood flowing from a large wound in his stomach.

33 The king washed and bandaged the wound, and then he and the hermit
carried the man into the hut.

34 The man closed his eyes and fell asleep.

35 Because he was completely exhausted, the king also lay down and
slept.

36 When he awoke in the morning, the man was staring at him.

37 “Forgive me,” the man begged.

38 “| don’t know you, and | have no reason to forgive you,” the king
replied.

39 “You might not know me, but | know you,” the man answered.



40 “During the last war, you killed my brother and took my property.

41 When | knew that you had gone to see the hermit, | decided to kill you
on your way back.

42 | came across your bodyguards, who recognized me and wounded me

43 Although | escaped, | would have died if you hadn’t saved my life.

44 Now, my sons and | will serve you forever.”

45 Pleased to have made friends with his enemy so easily, the king
forgave the man and promised to restore his property.

46 After the man left, the king went outside to talk to the hermit.

47 “For the last time, | beg you to answer my questions,” the king said.

48 “They’ve already been answered,” said the hermit.

49 “What do you mean?” the king asked.

50 “If you hadn’t helped me, you would’ve left, and that man would’ve
attacked you.

51 the most important time was when you were digging

52 | was the most important person, and helping me was the most
important thing.

53 the most important time was when you cared for the man

54 If you hadn’t helped him, he would’ve died, so he was the most
important person, and helping him was the most important thing.

55 Remember, there is only one time that is important: now!

56 The person that you are with is the most important person, and doing
that person good is the most important thing.”
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2) never did she believe — she never believed
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03 (1) Little did | dream he would become famous.
(2) Under no circumstances should he be late for school.
(3) Hardly had | finished the meal when the dessert was served.
(4) Not only is it smart to wear seat belts, but it is also the law.
(5) Not until next Wednesday will she come here.

01 (1) LRl BA(T)2| ZZE ATt EXIE "RAHT) + SAL + GAF 04,9

(3t =XI= TRYN(F) + ZSAH+ R0 + SAL

L= 227 217 YB2 & X0l gLt
(3) H0I2] XS 95t EXI= THO| + SA+ F0{,2] 0f2S F3tC.

| o2 AASHE 22 =XI= Tso + ZEAH+ =01,

A=
02 (1) here2 A|Zfot= 282 EX|= There + SAt + BAF F01,2] OjaS
B2 our commuting bus comesE comes our commuting busz 11X
MOF Bt}
O|H| f2| &2 HAIt0]2] 2Lt
(2) 2X0S ZXRE AT EX= 'FHO + F0| + AL ol FoIEE
never did she believeE she never believed2 1A MO ST},
J7t ZHSIE S Jde A3 UX] LU
(3) BHO(F) ZEE gt EXl= "RHO(F) + A+ F0{ + AL Of
2 F|5I2 2 said sheZ did she sayZ 1A A{OF SiCt,
JH= 20117 SHotC] = SEX] UCE.
03 BEH(F)Q LEE 28t EXl= "EHO(F) + ZSAL+ F0 + SALL S| 0leS
F3tD SATHbeSARl AR TEHO(T) + beSAL+ 301,9] OlS FEHC
(1) Lke 27t R YA 22 S0l MZIsHA| Z34ct
(2) J&= o HE0IM = w0l X|ZsiAE= oF EICh
(3) LH7F MAME ELHAIOEXE F4/0] Lt
(4) QNI E 2Edh= A2 Y LY w0 OfLIE MO 2 & FoHA UL

(5) IHE tE F +LMA 70

=
ﬂ apy ojer K= p.077
01F

02T

01 2%0(9 ZTER 20|17} XYM E HHYot= XS Z/CH
02 Malioll 9= Great Mosque of Djennée= H|Q &7(, 7|2 H5}0] OJ5t Xt
QI W5} W20 sHotcH 24-=ICt

p.078~079

01 (A)gainst (Al (0)dds
03 take it for granted

02 Towering
04 24H2
06 so was the number of the commuters 07 stopped
08 connecting 09 7t&=0{ 10 sailing 11 7498 1pA
12~2 125tH 13 That is 14 =2 LAHHAL

16 In addition 17 to walk
20 had been launched 21 ~0i 2l AIS=IACE
22 had built 23 7|t 24 which 25 called

26 developed 27 throughout 28 would have quit

29 2|7t X[0{ K= A 30 in spite of 31 be abandoned
32 To everyone’s amazement 33 stepped in 34 what

05 responsible for

15 stronger 18 was involved in

19 to fail



7 BRECCLER

02

03

04

35 had started 36 see it through

38 With his assistance 39 so

41 which 42 (u)nprecedented

44 did they prove 45 S7ts8h Y

37 bringing
40 without
43 which[that]

p.080~091
01® 02® 03® 04® 05®@
06 (c)ommute 07 (1) artificial (2) meaningful (3) incredible
08 ® 09 ® 100

11 | can’t wait to see what ideas people come up with in the competition!
123
13 I'm surprised that he is able to memorize so many lines then.

14 ® 5(1) ®, that — what (2) ®, dance — dancing 16 @

17 (1) | realized — did | realize (2) | remember — do | remember
(3)Ido—do

18@ 19® 20 so late that 21® 220

23 Never did Napoleon keep, neither did his friends 24 ®

250,06

26 (1) He was so skilled at cooking that he won the first place in the
world cooking competition.

(2) They were such difficult physics questions that all the students

but Aiden couldn’t even solve one of them.

27 No sooner had, said, regretted 28 @

29 the Brooklyn Bridge 30 ®

31 with hundreds of ships constantly sailing on it 32 @ 3@

34 his ambitious plan was destined to fail, it had been launched

3BO

36 John’s role as chief engineer was succeeded by his son,

Washington Roebling

37® 38® 9@ 400 IANG)

42 so hard that she became an expert in them without ever going to
college

43® [YAO)

45 (1) impossibly — impossible (2) they proved — did they prove

D2 WAL GAP ZAHO|L LHX = BF “SAH: GAF BA0|C
@ =9 2 @FEA:AS ® 7|45t 2 7|0
@ =2t Sttt iﬂf% ® 825t 22

® 7|thstAL HRst ot
Z0/0|L}.

@ rescue(7R): =277t I &ot7 LT E3H5t

@ landmark(FL X[@X|8): 2 2L
UK LS E2tF= A

@ outstanding(FI0{): CHHS| 245t

@ portable(FO7t #12): HH 2EIStAHLL 0158 5=

evidence: M, 2%

- ixl= CHE ol

« MHEO|LE 7 22 HO

OUE @718 @ XA ®

® 22 1 oM I0HK| =

@M AH= ZRUE 2 4=

=2 E7LL IX| ¥2'2 unimpressive(@Hsho| HY

NN TS Eott 39
A= 20| Yot=7| ALt ofciof

=
@ W 217 RO LR IFFHA L7t =25Hs %S EX RAUCL (— 42D
@ 1SS 20 50| MBS KT 2013 US51| U5 T 87 AT
52 20|

06
07

08

09

13
14

=HZS WA LHX| =0 & 7F0HEP (LD

@ d= X 210 6AIZH S A LR (FA)

® 42 50| F2|9] LIHX| Al E9| A AEs sith= WS 0|gHt.
(LHH )

commute(S3HEh): Lata] 747] s M H2|E F7 N 0|SsiCt

(1) 213 &= A2 0|F0MTE AZE 10 D2 0l SSHL. (artificial:
Q132

(2) CHA & OfOI S0 20| U= HHOZ HAE JI2X|= A2 IR &E +
QIL}. (meaningful: /0] =)

(3) EERIE S WA F01T MF KXo A2 Le += Sl FeUCh

(incredible: P& % 2iE)

bout ~?2 ~0fl T3 SOf 2 X QUL|7'aH= £02 Aryo]
5012 [EH AFg3He BEOICL,
22 NSt HE0] B (52 QoM 2

4 gl A K0 Yot 223 OS2 are

able toE can’t2 11X MO} StCt,
| can’t wait ~= O{H XS SA| 7|0t I A= HH0|12, come up withe
2 MZsH LHCE 2h= 2|0]o|C}.

® F9 HuFE LESH= 2AOI22 much, even, still, far, a lot 822 11
X MOF BT},

=S H3I6H= I'm surprised that ~2 0|&§HTt,

@ BiR= & EOHE 7EX| 2 AKXt Ef% At =28 HHoF HALS 71E 4=
QAT 3Lt

@ Hepd2 ¢ iRl ¢17|E FTHACE

@ P2 G0l B2 AH7|of ZS3ULCt.

@ 2 HiR7t ahE FOHE 71X U= AS L1 AACE

@ BiR= XS M &5 HOHE UL

® BRIt HALE 27| M OHE S22717t 2 42| 2 HALE 80| =L

@ B0 92 k= GAFEE 0|20 Fof| 2&X%t H0| O|0X|2E thatg &
AHHA whatQ 2 11X MOF StCt,

@ dance 0|3t= dronesE Aot 2AMEE drones®t dancee= &
B2 AHXEAL dancing@ 2 11X MOF ST,
AME LIEHAE= "such + a + F&AE+ AL + that +

S
2!

A0

701 + SA, PE2E 0|

oo m\J

oo

of ShYOIULt. Jld= 2E SR +5 2HE O g7 2L

7t ZAXE EX|TR0|D2 TEH + ZEAL+ T + EAL O 020

1°| HEX| 23U
H EXTFR0[E2 TRAT) + ZSAH+ YA F

oIt

22 Mneither + ZSAH+

(3) ‘w3t ~ OLICHEHs £9| neither AWort
201,9] 0202 MO} BiCt,
TomS L9t 98 20| M 242 FOFSHR| 0, L OFERILE,

ZAE UHEHHE Tso + HEAHEA + that + F0 + can’t + SAHEE 2 ‘H
2 ~BM & 4 QET0I2HE 9| Moo + HEAHRA + toR ™AL R HIFY &
2+ Qlch

BHO(F)7H L2EH ZRXTEES "EHO(T) + ZESA+ 0| + SALQ 0l&2
2 IO} B},

@ Ga7t 7140] == HEe MUz otets 4= Mo E20. (do a

movie — does a movie)



@ % A2t S0)0F H|2A = J7f CHA| M35HK| 2UATH= A2t
(recalled — recall)

® Sophias 0{H %0 = =2 &0| iCt. (Sophia has — has Sophia)
El= O7F A FH2 Lo|of Arysta|2til= Aol o &5k 23U

20T

| 5L

(expected we — did we expect)

2|7t Z2 OIIMEN| H/UZ0 = E+0t L= 5| IEE B X0| A
O GAALY.

20 "so + HEAHEAN + that + F0{ + SAL, 7122 0[FiCH
AlZt0] 42 =0{A 2240 St S2 0]0] W 3|0 = &HsH UAUCE

21 @ A since7t AL EZ was nevers SXAZ has never beenQZ 11

X MOF BT,
@ 2HOL L2EH EXTECE "REO + ZSAL+ FO| + SAL L 0z E
H=2 MLt
® never’t Y QB2 not2 AMHISHOF HCt,
@ Z0{7} heO|E22 haveZE hasZ 11L& MO STt
® never he has beeng he has never been22 11X MOF STt
22 O OA2 HRE st TZI-0|0MN L= 1150| 43 JOAE BUX| ¥71E
B2t}
@ Hi7 MS0| HF 0iZ0| @XM 22l JE0AM =2 9 27t iACL
= i ST 1SS & = US AOI0M DRSS T X 4E
Z0]Ct. (so — such)
@ H| 2 F|2 FXPN7t AT OFECHAM R2|= HlE il X[AE UL
® HEL =s2h2 70|01 Lz 4S8 G5 X =2 A0|ACt

23 T2H0| + ZSAL+ F0| + SAL T2 ESH~ OFLCY 2h= O] Mneither +
ZEA+ 0, 22 0|STlC

24 HME UEHHE Tso + FEAM[EAL + that + 0] + SAH, 20]|CH
A OZIo] YIS AFFS0| 2 A2E UM HE MUE & 27t A0, U= of

[EH|_]?
B: LfE T2, 42 A I2YM ES T5] AEX| Zotal 2 7HO1 UAO.
25 RHO(F)7t L2 EH ZXTEE "EHO(F) + ZEAL+ F0] + A2 0l&2
2 MOF Bt}
® = HUZ Xplof 0 Dol Aty fﬁf | =L
@ 1€ Y 2= oks0|M B oLt = 2= SIAT
® = FOHT A2t S A2 M= 0|0F7|5f | 4AULE, (we talked — did
we talk)

@ NIA ofTjol = HAXISO0| &8 R giCt.

®gHUEs HE2A7| MZo Lot gt LHsk= Lol A9l git. (my
grandmother takes — does my grandmother take)

26 (1) "so + HAHEAL + that + 0| + SAH, F2S 0|23,

= Q20 f =AFCE J= MA Q2| 3|0 LS.

(2) "such + a + YEAL + BA + that + 0 + AL RS 0|&FITH,
JIRES o2 22l 2HACL AidensS MRSt HE SHHE0| IAE
% St 2 EX| 23U

27 BHN(F)IH L2 E EXTR0|EE TR2H(F) + ZSAF+ FO0 + AL Of
F=O= 2L

28 ® the familyZ &< =0{0|2 SAZH RS2 E paid2 11K AOf STt

29 2 2X0|A AZE the Brooklyn BridgeZ 7t2|ZICt

30 FOIT 2H2 0| AEZL| 2 ZEL ALLIR S4f TR0 1 4 o RA7IE
HNEls A2 022 A0IUC=E HELE, @ A2 ZA| AFRS0IIA T2t 2
QFCH= WE0|D @ Fl= E5H FA| OAEZR IR HERCE HE2= &
ol T2 E K= E OHE O #20| EAHED Bz 0T 282 @0 =
7= Z0| HASIC}

31 2OMES LEH = BAFE "with + SX0(YAD) + SHZEO(2AD,E
0|835t1, FX0{2 SXHAENII 55 BHO0|2= AXEA sailing2=2 MOf
L=

32 0T 2H9| That ise A9l LIBS CHA| SHH oig e If AL8Ste SIZ0E,
@ AOIM 1 A Mot 7[s2= O3 L2|E ¢-ok= A0| 27Fsdl 2t

12 - s&8(@)

33
34

35

36

37

38

39 F

40

41

42

43
(A

45

03 F0{T 252 John Roebling0] 11 =ME ©IOE0[7| FMK|= AHY
=2 10| 27550t W23Hth= WE0|22 @0 £0{7t= A0| M&5ICt.
@ 74N 1t 20|22 worked2 TIA MO SHTY,

~& 2HO|Y 2= X2 Tbe destined + toR AL T2 01831, AIZHE
ZI0| AIjE 2EHOZ HOl ZAECH HA LN UO|EE IHHAZZ MOF SHCY,

® JohnE Ct2|E 7ZAMsk= ol EA| A 0I5 Al 6 O 25t ZE 70122 At

8 HIQHICt.
X242 LIEHE ®MX|AL as S0f ZIAFS M2¥511 succeed(FIE UCHE +SH

2 MoF Bt}

(A) WashingtonO| OtHX| John9| S5t2 0|0{EUHE=E] Ol QUMM W
Y AES SEMAI] WRO0|2Z construction(Z14)0] MESILY,
(destruction: Tt2)

(B) ZetHo| Ze A Mg £ gt
XHSICE, (prevent: Ol 3HCH

(O Ao TZeR te| HHE XAHEN USS AL
continued (A& &CH7t MH OHZf (abandon: Z7|3tCH

which 0|5tz & 229 A LI8S EE dH5k= HAAEO|L FoM 5

AE9 15 A @ EE5| o{F 0 A ZA0|U

P74 £017h= A :

® mX|f0t ST 0 HO|AC
® A7 U0 M 4= gl ZYo|ACt

@ 2| AHE Z27|ok= O|RMUC

® Washington0| =H0j| Z

%l 2AL ‘TI2 AMHS0|2H 1 A|§01|k| IL7|MZX2t Washington2 Of

LIQICE 2H= LH222 @ F0f WashingtonO| ZA0M YRAACE Ct2| AN

S XARN 37 ALK Z5FCHe W80 MHEEE F0{X 282 @0

S0{7t= 20| XMHstCt,

(A) 7l 20 Washington2| OtLY EmilyZt Ch2| AME 24456172 ZA
= 80| 0|0{X|22 amazement(s2t2)7t HEotCt.
(disappointment: A1)

(B) Emily7 g2 X|A|E MYFICH= OJ0|0|2 & instructions(XIA)7} HH

SICt. (introduction: 27H)

2|0j0|2 2 developed(MZiCH7t

olojo|2z

6|—i
W

ot Yeoz HiZs

=Rl =]

52

ot

(O) X2 AIZES0| EmilyQl CHal 7140 Th3t S30) RAIS ERICH= 20j0|2
2 contributions(7[04)7t ZASICL, (distribution: HI&E)

® began?| 2H0{Q SHA passingdt SHTEA and 2 0|17 HE 2AH 0|
02 SHA} bringingQ2 10X MOF St}

so + HEAEAH + that + 0| + SAH T2 "without + SHAL TS

0| &5Hct.

@ Emily2] M2 I YAl IE0AH M7t Sl Z40(2t 0 HASHICH

2232l 2|7} Roebling 7H22| SSICE M= LHRO|ZZ, 22| FH|

2= @ ‘Roebling 7H22| =2+2 Y&'0| MHotLt,

O HR3Y 0|7t F=2A|1Q 470| # 0%

@222 2|9 s

® Emily7} QUX|L|0{7}

® Roebling 7t22| &SAHE

(1) seem FHEOZ YEAME FIGIEZ impossiblyE impossibleZ 114
MOF BT,

(2) BHO(F)7t Z2H X722 230 SAL+ F0 + SALS O
=2 FSIEE, they provedE did they provei X MOF BT},

Hag g
H dge ZOXIX| = ROJO0p|

Alete

() + =

A = -]
LHI_I 1o=| EHHIIZ | p.092-103
01® 02® 03® 4 (floundation
05 held up 06 for 07 ®
08 they’re going to make rescue work much faster and safer 09 ®
10® 11 (0)hallenges 120 130Q 14®



01

02

03

04
05

06

07

150 16 so soft that it couldn’t support it
17 (1) neither can (2) Not until, did she make
18®@ 190, ®

20 (1) These days, any information is accessible on the Internet so
easily that we must keep our personal information well.
(2) Today was such a humid and hot day that | had to take several
showers to wash off sweat.
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01 (1) @ — landmarks (2) ®
02 It was also a very busy river at that time, with hundreds of ships

— to create (3) @ — connecting

constantly sailing on it
03 so was the number of the commuters between them

4 (A) Considering the limited technology in those days, building
such a bridge seemed impossible.

(B) John proposed the use of steel cables—instead of iron ones—
that would be six times stronger than needed to support the
bridge.

05 (e)xpert

06 Not only did they prove their doubters wrong, but they also
achieved an accomplishment that[which] inspired us to do the
impossible.
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Towering over the East River, the Brooklyn Bridge is one of New York
City’s famous landmarks.

many people take it for granted, but back in the 1800s it was
something people only dreamt of

The bridge’s construction cost more than $320 million in today’s
money and the lives of over two dozen people.

the family in charge of the project paid a high price to create the
impressive bridge we all know and love today



05 This is the story of how the Roeblings built the Brooklyn Bridge.

06 the populations of Manhattan and Brooklyn were rapidly increasing,
and so was the number of the commuters between them

07 Thousands of people took boats and ferries across the East River every
day, but these forms of transport were unstable and frequently stopped
by bad weather.

08 Many New Yorkers wanted to have a bridge directly connecting
Manhattan and Brooklyn because it would make their commute quicker
and safer.

09 because of the East River’'s great width and rough tides, it would be
difficult to build anything on it

10 It was also a very busy river at that time, with hundreds of ships
constantly sailing on it.

11 Any bridge over the river would need to be a very high suspension
bridge.

12 Considering the limited technology in those days, building such a
bridge seemed impossible.

13 people thought it was impossible until John Roebling, an expert at
building suspension bridges, accepted the challenge

14 John proposed the use of steel cables—instead of iron ones—that
would be six times stronger than needed to support the bridge.

15 he planned to build two large stone towers to hold up the bridge’s road
and allow people to walk across it

16 If his ideas worked, the final result would be the longest, strongest
suspension bridge ever built.

17 John’s ambition inspired people, so construction began in 1869.

18 he was involved in a ferry accident later that year and died of an
infection not long after

19 It looked like his ambitious plan was destined to fail shortly after it had
been launched.

20 John’s role as chief engineer was succeeded by his son, Washington
Roebling

21 Because he had built bridges with his father and studied bridge
construction in Europe, he believed in John’s dream.

22 the foundations for the bridge’s two towers were being built in the East
River, which was extremely difficult and dangerous work

23 Workers had to stay at the bottom of the river in a waterproof box with
little light and constant danger.

24 Many died or were permanently injured by a serious disease called “the
bends,” including Washington Roebling.

25 he developed this disease and was unable to move easily or visit the
construction sites throughout the rest of the project

26 Other people would have quit at that point, but not Washington.

27 He continued to supervise the bridge building for years by watching it
through a telescope from his bedroom.

28 there were still many things he could not do despite all his efforts

29 the project seemed likely to be abandoned

30 yet another Roebling stepped in to save the bridge

31 it was Washington’s wife, Emily Warren Roebling

32 She believed in what her family had started, and she was determined
to see it through.

33 she knew almost nothing about engineering

34 As her husband’s health failed, though, Emily began passing his
instructions to the assistant engineers and bringing back their
construction reports.

35 she naturally picked up a lot of information about bridge building

36 she also studied higher mathematics and engineering so hard that she
became an expert in them without ever going to college

37 By the time the bridge was finished in 1883, Emily was carrying out
many of the chief engineer’s duties, which was unprecedented for a
woman in those days.

38 Many people praised her contributions to the project, and she became
the first person to cross the bridge.

39 It was the moment she, Washington, John, and everyone else who built
the bridge had worked so hard for.

40 the Brooklyn Bridge stands as evidence of the Roebling family’s
persistence

41 These amazing people made incredible sacrifices and overcame all
obstacles to complete a project that seemed impossible to others.

42 Not only did they prove their doubters wrong, but they also achieved
an accomplishment that inspired us to do the impossible.
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